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QUESTION 1

You create a Snapshot copy of a new volume.

Which activity increases the size of the new Snapshot copy?

A. deleting data that was written to the volume after the Snapshot copy was created
B. writing new data to the volume after the Snapshot copy was created

C. reading data that was written to the volume before the Snapshot copy was created
D. deleting data that was written to the volume before the Snapshot copy was created

Correct Answer: D

QUESTION 2

You complete an installation of a FAS8200 that has two separate stacks of disk shelves. In this scenario, which NetApp
tool should be used to validate the disk shelf cabling?

A. Config Advisor

B. OnCommand System Manager
C. OnCommand Unified Manager
D. Hardware Universe

Correct Answer: A

QUESTION 3

On an All Flash FAS, where is the root parity information located on a node using Advanced Disk Partitioning?
A. on a single SSD drive, regardless of RAID type

B. on a single SSD partition

C. distributed among SSD partitions

D. on two SSD drives, regardless of RAID type

Correct Answer: D

QUESTION 4

Which two actions would you take to create a FlexGroup for the SVM vsO in an NFSv3 environment? (Choose two.)

NS0-159 PDF Dumps | NS0-159 Practice Test | NS0-159 Exam Questions 2/3


https://www.pass4itsure.com/ns0-159.html
https://www.pass4itsure.com/ns0-159.html
https://www.pass4itsure.com/ns0-159.html

. VCE & PDF https://www.pass4itsure.com/ns0-159.html
a 2024 Latest passditsure NS0-159 PDF and VCE dumps Download

— PassditSure.com

A. Use the volume flexgroup deploy command.
B. Enable the -v3-64bit-identifiers parameter.
C. Enable the -v3-f sid-change parameter.

D. Use the aggregate create command.

Correct Answer: AB

QUESTION 5

You want to create a new storage pool of SSDs to provide a performance tier for FlashPool-enabled aggregates on
nodel and node2. You expect that the FabricPool aggregates on nodel will require more of the performance tier than
the aggregates on node2.

Which action satisfies the requirement?

A. Use thestorage pool reassigncommand to reassign storage pool allocation units from node2 to nodel.

B. Use thestorage disk reassigncommand to reassign disk from SSD storage pool from node2 to nodel.

C. Use thestorage pool addcommand to add HDDs to the FabricPool aggregates on nodel.

D. Use thestorage pool modifycommand to change the parity of the RAID groups in the storage pool to RAID-4.

Correct Answer: A
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